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Directions (Q. 16-20):Study the following information carefully and answer the 

questions given below:

निम्ननिखित जािकारी का ध्यािपूर्वक अध्ययिकरें और िीचे निए गए प्रश्न ों के उत्तर िें:

Cost of three different fruits ( in rupees per kg in five different cities ) 
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(A) Jalandhar (B) Dehli (C)Chandigarh (D)Varansi (E)Lucknow

Q.16 :-In which city is the difference between the cost of one kg of apple and cost of one kg 
of guava second lowest?
नकसशहर में एक नकिन सेबकीकीमतऔर एक नकिनअमरूिकीकीमत के बीचकाअोंतर
िूसरा सबसे कम है?
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(A) 66 (B)24 (C)38 (D)34 (E)58

Q.17 :-Cost of one kg of guava in Jalandhar is approximately what percent of the cost of two 
kgs of grapes in Chandigarh?
जािोंधर में एक नकिनअमरूिकीकीमतचोंडीगढ़ में िन नकिन अोंगूरकी कीमतका िगभग
नकतिा प्रनतशत है?
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(A)450 (B)620 (C)530 (D)570 (E)490

Q.18 :-What total amount will Ram pay to the shopkeeper for purchasing 3 kgs of apples 
and 2 kgs of guavas in Delhi?
निल्ली में 3 नकिन सेबऔर 2 नकिनअमरूििरीििे के निए राम िुकाििार कन कुि नकतिी रानश
का भुगतािकरेगा?
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(A)8104 (B)8550 (C)8208 (D) 8340 (E)8410

Q.19 :-Ravinder had to purchase 45 kgs of grapes from Lucknow . Shopkeeper gave him 
discount of 4% per kg. What amount did he pay to the shopkeeper after the discount?
रनर्ोंिरकन िििऊ से 45 नकिनअोंगूर िरीििे थे। िुकाििार िे उसे 4% प्रनत नकिनकी छूट िी।
छूट के बाि उसिे िुकाििारकन नकतिी रानशका भुगताि नकया?

110

170

90

190

160

60

90

120

30
20

160

130

180

90

40

JALANDHAR DEHLI CHANDIGARH LUCKNOW VARNASI

Rupees per kg in five different cities

Grapes Guava Apple

http://www.mahendras.org/


FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

(A) 13.66% (B)12.5% (C)15% (D)20% (E)21%

Q.20 :-If Ram purchased 5 Kg Grapes from Chandigarh at 10 % discount and Ravindra 
purchased 2 kg Apple from delhi at 20% discount then How much % discount did they get 
together ?
यनि राम िे चोंडीगढ़ से 5 नकिनअोंगूर 10% छूट परिरीिाऔर रर्ी ोंद्र िे निल्ली से 2 नकिन सेब
20% छूट परिरीिा, तन उन्हें एकसाथ नकतिे% छूट नमिी?
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(A) 13 (B)8 (C)7 (D)11 (E)16

Q.21 :-A boat can cover 20 km upstream and 32 km downstream together in 3 hours. Also it 
can cover 40 km upstream and 48 km downstream together in 5.5 hours. What is the speed 
of the current (in km/h)?
एकिार् 3 घोंटे में 20 नकमी उर्ध्वप्रर्ाहकीओरऔर 32 नकमीअिुप्रर्ाहकीओर एकसाथजा
सकती है। साथ ही यह 5.5 घोंटे में 40 नकमी उर्ध्वप्रर्ाहकीओरऔर 48 नकमीअिुप्रर्ाहकीओर
तयकरसकती है। धारा की गनत (नकमी / घोंटा में) ज्ञातकीनजए?
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(A)5:2 (B)6:1 (C)5:3 (D) 5:1 (E)None

Q.22 :-A boat running upstream takes 6hours to cover a certain distance, while it takes 4 
hours to cover the same distance running downstream. What is the ratio between the speed 
of the boat and speed of the water current respectively?
एकििी में धारा के नर्परीत चििे र्ािी िार्कन एक निनित िूरी तयकरिे में 6 घोंटे िगते हैं, 
जबनकधारा के साथ समाि िूरी कन तयकरिे में 4 घोंटे िगते हैं। क्रमशः िार्की गनतऔर पािी
के प्रर्ाहकी गनत के बीचकाअिुपातक्या है?
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(A)3600 (B)4200 (C) 3850 (D)4125 (E)None

Q.23 :-A dealer marked the price of an item 20% above cost price. He allowed two 
successive discounts of 20% and 25% to a customer. As a result he incurred a loss of Rs 
1400. At what price (in rupees) did he sell the item to the customer?
एकडीिर िे िागत मूल्य से 20% अनधक मूल्यकी र्सु्तकन नचनित नकया। उन्हनोंिे एकग्राहककन
20% और 25% के िन क्रनमक छूटकीअिुमनत िी। पररणामस्वरूपउसे 1400 रुपएका िुकसाि
हुआ। नकसकीमत पर (रुपएमें) उसिे ग्राहककन र्सु्त बेची?
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(A)85 (B)95 (C)90 (D) 48 (E)None

Q.24 :-A gardener sprinkle water and nourish his grass field regularly. The grass grows at a 
certain rate so that 60 cows can graze the field completely in 20 days , 50 cows can graze the 
same field in 30 days then find that in how many cows will needed to graze the whole field 
in 10 days?
एकमािी नियनमतरूप से अपिे घास के मैिािका पनषणकरता है और पािी नछड़कता है। घास
एक निनित िर से बढ़ती है नजससे 60 गाय 20 नििन ों में पूरी तरह से िेतकन चर सकती है, 50 गाय
उसी िेतकन 30 नििन ों में चर सकती हैं, निर यह पता करें नक 10 नििन ों में पूरे िेतकन चरािे के
निए नकतिी गायन ोंकी जरूरत हनगी?
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(A) 120 (B) 125 (C)145 (D)110 (E)None

Q.25 :-A train can travel 50% faster than a car. Both start from point A at the same time 
and reach point B 75 kms away from A at the same time. On the way, however, the train lost 
about 12.5 minutes while stopping at the stations. The speed of the car is?
एकटर ेि एककारकी तुििा में 50% अनधक तेजी से यात्राकरसकती है। िनिन ों एक ही समय नबोंिु
A से शुरू हनते हैं और एकही समयमें A से 75 नकिनमीटर िूर नबोंिु B पर पहुोंचते हैं। हािाोंनक, 
से्टशिन ों पर रुकिे के िौराि टर ेि कन िगभग 12.5 नमिटका समयिगा।कारकी गनतक्या है?
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(A) 4:3 (B) 2:1 (C)1:3 (D)3:1 (E)3:2

Q.26 :-A person has a chemical of Rs 15 per liter. In what ratio should water be mixed in 
that chemical so that after selling the mixture at Rs 12 per liter he may get a profit of 20%.
नकसीव्यखिके पास प्रनत िीटर 15 रुपये का रसायि हनता है। उस रसायिमें नकसअिुपात में
पािी नमिाया जािा चानहए तानक नमश्रणकन 12 रुपये प्रनत िीटर पर बेचिे के बाि उसे 20% का
िाभ नमिसके।
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(A)179.44 (B)174.26 (C) 189.66 (D)181.84 (E)None of these

What value should come in the place of question mark(?)in the following questions?

2.8% of 2580 + 16% of 685 = ?

E04613
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(A)45 (B)47 (C)46 (D)48 (E)None of these

What value should come in the place of question mark(?)in the following questions?

5376 ÷ 24 × 13 − 703 = ?² − 95 

E04613
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(A)1084 (B) 1089 (C)1092 (D)1099 (E)None of these

What value should come in the place of question mark(?)in the following questions?

(153 × 1331 ) ÷ (11 × 17 ) = ?

E04613
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(A) 20 (B)19.5 (C)18.75 (D)20.25 (E)None of these

What value should come in the place of question mark(?)in the following questions?

E04613
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(A)632 (B)593 (C)648 (D)678 (E)None of these

What value should come in the place of question mark(?)in the following questions?

18³− 72² = ?

E04613
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(A) 232 (B)234 (C) 212 (D)219 (E)None of these

What value should come in the place of question mark(?)in the following questions?

84²− 72² = ? % of 800

E04613
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(A)7 (B)8 (C)9 (D)11 (E)None of these

What value should come in the place of question mark(?)in the following questions?

143 × 15 − 173 × 12 = ?² − 12 

E04613
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(A)28.25 (B)24.625 (C)28.125 (D)28.875 (E)None of these

What value should come in the place of question mark(?)in the following questions?

87.5% of 420 − 85% of 300 = ? % of 400

E04613
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(A)17/32 (B)21/32 (C)27/32 (D)9/16 (E)None of these

What value should come in the place of question mark(?)in the following questions?

E04613
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(A)117.39 (B)119.39 (C) 120.39 (D)118.39 (E)None of these

What value should come in the place of question mark(?)in the following questions?

34.01 + 76.02 + 21.62 + 12.16 − 24.42 = ?

E04613
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What should come at place of the question mark (?) in the following number series ?

11 . 499 , 622 , 868 , 1237 , 1729 , 2344 , ? 

(A)3240 (B)3020 (C)3082 (D)2782 (E)3324

E04613
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What should come at place of the question mark (?) in the following number series ?

12 . 529 , 841 , 961 , 1369 , 1681 , 1849 , ? 

(A)2449 (B) 2378 (C)2219 (D)2525 (E)2209

E04613
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What should come at place of the question mark (?) in the following number series ?

13 . 20 , 24 , 33 , 49 , 74  , 110 , ? 

(A)159 (B)149 (C)301 (D)241 (E)None of these

E04613
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What should come at place of the question mark (?) in the following number series ?

14 . 16 , 24 , 48 , 120 , 360 , 1260 , ?

(A) 2015 (B)4088 (C)5040 (D)5127 (E)5225

E04613
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What should come at place of the question mark (?) in the following number series ?

15.  8 , 31 , 122 , 485 , 1936 , 7739 , ?

(A)38970 (B) 12780 (C)30950 (D)42320 (E)35250

E04613
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(A)30lit (B)40lit (C )50lit (D)56lit (E)60lit

Q.16 :-A vessel contains milk and water in which 20% water. 20 litre of mixture was taken 
and replaced by water and the ratio becomes 12: 13. Then find the initial quantity of milk in 
the vessel.
एकबतवि में िूधऔर पािी रिा है| नजसमें 20% पािी है। 20 िीटर नमश्रणकन निकािा जाता है
औरइसे पािी से बिि निया जाता है, तन िया अिुपात 12: 13 हन जाता है। तन बतवि में िूधकी
प्रारों नभकमात्रा ज्ञातकरें।
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(A) 98 (B)100 (C )101 (D)99 (E)102

Q.17 :-The average wage of a worker during a fortnight comprising 15 consecutive working 
days was Rs. 95 per day. During the first 7 days, his average was Rs. 92 per day and the 
average wage during the last 7 days was Rs. 97 per day. What was his wage on 8th day?
एकपिर्ाडे़ 15 कायव निर्स के िौराि एकमज़िूरकीऔसतमजिूरी 95 रुथी । नजसमें पहिे 7 
नििन ों के िौराि, उिकाऔसतप्रनत निि 92रुऔरअोंनतम 7 नििन ों के िौरािऔसत रे्ति प्रनत निि
97रुथा । 8 र्ें नििकी उसकी मजिूरीक्या थी?
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(A)800 (B)400 (C )600 (D)650 (E)None

Q.18 :-Two pipes can fill a cistern separately in 24 min and 40 minute respectively. Waste 
pipe is opened which can drain the cistern at 30 liters/minute. If all the pipe are opened 
together then the cistern fills in one hour. The capacity (in litre) of the cistern is?
िन पाइपक्रमशः 24 नमिटऔर 40 नमिट में अिग-2  एक कुों डकन भरसकते हैं। अपनशष्टपाइप
िनिा जाता है, जन 30 िीटर / नमिटकी िर से पािी की निकासीकरसकता है। यनिसभी पाइप
एकसाथिनिे जाते हैं तन एकघोंटे में कुों ड भरजाता है। कुों ड की क्षमता (िीटर में) है?
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